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T Hpi111#£092

B |55 4] &5 [Ff 4] makd | it a [RordolR] B | H3
p /4% =| (PPB) (PPB) (PPB) (PPM) (PPB) (UGM) (DEGC) (dBA)
1 10.9 45. 5 1.4 2.0 1.6 50. 6 27. 7 64.5
2 7.6 44,1 2.0 2.0 2.8 45. 0 26. 0 56. 3
3 5.6 28. 1 2.4 2.0 2.0 38. 3 277. 2 hl.1
4 9.5 31.5 2.0 2.0 2.6 35. 9 26. 8 H3. 1
5] 16. 2 46. 0 2.0 2.2 4.0 48. 5 29.4 62.5
6 19.4 36. 3 3.9 2.9 4.1 h2. 2 27. 8 63. 6
fl 19.2 33.1 6.6 2.9 8.0 53. 3 28. 2 65. 3
8 18.6 49.5 3.8 2.9 6.7 59.9 28. 6 65. 9
9 11.3 62.5 5.2 2.7 4.1 70. 0 27. 8 65. 1
10 9.0 41.6 2.1 2.7 3.8 45. 0 26. 6 65. 0
11 7.1 29. 4 1.5 2.1 2.1 45. 6 26. 0 58.9
12 8.9 22.5 2.1 2.1 2.7 42.5 26. 3 57.1
13 19.3 24. 2 2.0 2.2 3.2 44.0 26. 3 58. 8
14 18.7 44. 6 2.2 2.5 3.2 55. 0 27. 7 62. 0
15 21.5 41.0 3.2 2.9 3.9 62. 6 28. 3 65. 2
16 19.3 36. 1 2.8 2.7 3.7 54. 0 27.6 65. 1
17 14. 3 49.5 1.8 3.1 3.0 50. 3 27. 2 64. 1
18 16.0 56. 7 2.7 3.6 3.2 59. 8 28. 3 64. 4
19 19.8 47. 8 3.6 2.9 4.3 65. 0 27.6 65. 3
20 12.4 49. 1 2.1 2.3 3.7 5. 2 25. 8 65. 3
21 13.7 38.1 3.2 2.6 6.4 h9. 8 26. 2 65. 3
22 12.7 37.5 2.1 2.5 3.3 50.5 25. 7 65. 3
23 12.7 44,7 2.2 2.6 4.9 55. 0 26.0 65. 1
24 8.5 48. 3 1.5 2.2 2.2 63. 6 24. 4 63. 7
25 7.9 33. 7 1.9 2.1 3.0 48. 2 25.3 60. 8
26 15.8 15.3 3.9 2.7 4.9 39. 7 29.7 64. 0
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T Hpi111#£092
T8 |53 F] L3 [fg v mmi | fri [Bame] EA | 3
pd/8 | (PPB) (PPB) (PPB) (PP\D (PPB) (UGM) | (DEGC) | (dBA)
21 20.4 15. 2 4.0 2.8 9.2 30. 2 30. 1 65. 9
28 20.3 16. 8 4.2 2.7 1.2 41. 1 30. 0 65. 4
29 22.5 21.0 3. 6 2.6 5.7 50. 7 29. 7 65. 9
30 16. 8 29.9 3.0 2.7 6. 2 60. 1 29. 3 65. 6
31
B B 5. 6 15. 2 1.4 2 1.6 39. 2 24.4 0l. 1
BB 29.3 62.5 6. 6 3.6 9.2 15.2 30. 1 65. 9
T o 14.7 37.5 2.8 2.9 4.2 01.9 27.5 62. 8
R 100 120 - - 15 100 S S
A2 X #ic 0 0 0 0 0 0 0 0




